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PRE MODEL TEST – II 
Probability, simple & compound interest, LCM & HCF, statistics & 

computes Science 
 

SECTION – A 
 

9. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
A. Arjun borrowed a sum of ₹ 5,000 from a bank at 5% per annum. Find the amount 

to be paid at the end of three years. 

mh;[{d; xU tq;fpapypUe;J Mz;Lf;F 5% tl;b tPjk; ₹ 5000 If; fldhfg; 
ngw;whh;. %d;W Mz;Lfspd; Kbtpy; mth; nrYj;j Ntz;ba nkhj;jj; 
njhifiaf; fhz;f.  
Solution:  
  Here Principal (P) = Rs. 5,000 
  Rate of interest (r) = 5% per annum  
   Time (n) = 3 years  

  Simple interest I = 
100

pnr
 

    = 
5000 3 5

100

 
 

    = Rs. 750 
Amount to be paid A = P + I 
    = Rs. 5,000 + Rs. 750  
    = Rs. 5,750  
    I = Rs. 750;  
   A = Rs. 5,750 
 

B. The LCM of two co-prime numbers is 5005. If one of the numbers is 65, then find 
the other number. 
,U rhh;gfh vz;fspd; kP.rp.k 5005. Xh; vz; 65 vdpy;> kw;Nwhh; vz; vd;d?  

 Solution:  
 We know that, the product of the two numbers = LCM × HCF 
  As the HCF of co-primes is 1, 
  65 × (the other number) = 5005 × 1 
  The other number = 5005 ÷ 65 = 77 
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10.  The following table gives the number of literate females in the age group 10 to 45 

years in a town. 
xU efuj;jpy; 10 Kjy; 45 taJ tiuAs;s gbj;j ngz;fspd; vz;zpf;if fPo;f;fhZk; 
ml;ltizapy; nfhLf;fg;gl;Ls;sJ.  
 

Age group  
taJ 

10-15 16-21 22-27 28-33 24-39 40-45 

No. of females  
ngz;fspd; vz;zpf;if  

350 920 850 480 230 200 

  Draw a histogram to represent the above data 
  
  Nkw;fhZk; juTfSf;F epfo;Tr; nrt;tfk; tiuf.  

Solution:  
 The given distribution is discontinuous. If we represent the given data as it is by 
a graph we shall get a bar graph, as there will be  gaps in between the classes. So, convert 
this into a continuous  distribution using the adjustment factor. 

  That is, lower boundary = lower limit - 
1

2
 (difference in gap)  

       
1

10 (1)
2

   

        = 10 – 0.5 = 9.5 

   Upper boundary = upper limit + 
1

2
 (difference in gap) 

        = 
1

15 (1)
2

  

        = 15 + 0.5 
         = 15.5  
 
The first class interval can be written as 9.5 - 15.5 and the remaining class intervals are 
changed in the same way. There are no changes in frequencies. 
The new continuous frequency table is 
 

Age group  9.5–15.5 15.5-21.5 21.5-
27.5 

27.5–33.5 33.5–39.5 39.5–45.5 

No. of 
females  

350 920 850 480 230 200 

The histogram is constructed as below 
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SECTION – B 
 

19. Answer the following questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 
A. Find the principal if the difference between C.I and S.I on it at 15% p.a for 3 

years is ₹ 1134. 
15% Mz;L tl;bapy; 3 Mz;LfSf;F fpilj;j jdptl;bf;Fk; $l;Ltl;bf;Fk; 

,ilNaAs;s tpj;jpahrk; ₹ 1134 vdpy;> mriyf; fhz;f.  
Solution: 
Rate of interest (r) = 15% p.a 
time period (n) = 3 years 
Difference between Cl & SI is given as 1134 
Principal = ? → required to find 

 
difference = 

2

2

300

100 100

PR R   
   
  

 

  1134 = 
15 15 315

100 100 100

   
   

   
 

     P = 16,000     
 

B. Malarvizhi, Karthiga and Anjali are friends and natives of the same village. 
They work at different places. Malarvizhi comes to her home once in 5 days. 
Similarly, Karthiga and Anjali come to their homes once in 6 days and 10 days 
respectively. Assuming that they met each other on the 1st  of October, when 
will all the three meet again? 
kyh;tpop> fhh;j;jpfh kw;Wk; mQ;ryp Mfpa %tUk; xNu fpuhkj;ijr; Nrh;e;j 
Njhopfs;. ,th;fs; ntt;NtW ,lq;fspy; Ntiy nra;fpd;wdh;. kyh;tpop 5 
ehl;fSf;F xU KiwAk;> fhh;j;jpfh kw;Wk; mQ;ryp KiwNa 6 kw;Wk; 10 
ehl;fSf;F xU KiwAk;> mth;jk; tPLfSf;F te;J nry;th;. mth;fs; %tUk;> 
mf;Nlhgh; khjk; Kjy; ehs; xd;whfr; re;jpj;jhh;fs; vdpy;> kPz;Lk; mth;fs; 
vg;NghJ xd;whfr; re;jpg;ghh;fs;?  
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Solution:       
 the LCM of (5, 6, 10)     
 They meet again after 30 days 
 ∴ They met on 1st October 
 They will meet again on 31st October 

  
20.  Two balls are chosen randomly from an urn containing 8 white and 4 black balls. 

Suppose that we win Rs 40 for each black ball selected and we lose Rs 20 for each 
white ball selected. Find the expected winning amount and variance.  
8 nts;is kw;Wk; 4 fUg;G ge;Jfs; nfhz;l xU $ilapypUe;J ,U ge;Jfs; 
rktha;g;G Kiwapy; Njh;e;njLf;fg;gLfpd;wd. Njh;e;njLf;fg;gLk; xt;nthU fUg;G 

ge;Jf;Fk; &. 40 nty;Yk; njhifahfTk; Njh;e;njLf;fg;gLk; xt;nthU nts;is 

ge;Jf;Fk; & 20 Njhw;Fk; njhifahfTk; fUJf. vjph;ghh;f;fg;gLk; nty;Yk; njhif 
kw;Wk; gutw;gb fhz;f.  
Solution 
Let X denote the winning amount. The possible events of selection are (i) both balls are 
black, or (ii) one white and one black or (iii) both are white. Therefore X is a random 
variable that can be defined as 

  X (both are black balls) = ì 2(40) = ì 80 

  X (one black and one white ball) = ì 40 − ì 20 = ì 20 
  X (both are white balls) = ì (40) = - ì  40 

 Therefore X takes on the values 80, 20 and − 40 
     Total number of balls n = 12 

  Total number of ways of selecting 2 balls = 
12 12 11

66
2 1 2

  
  

 
 

Number of ways of selecting 2 black balls = 
4

6
2

 
 

 
 

Number of ways of selecting one black ball and one white ball =  
8 4

32
1 1

  
  

  
 

Number of ways of selecting 2 white balls = 
8

28
2

 
 

 
 

Values of Random Variable X  80 20 -40 Total 

Number of elements in inverse 
images  

6 32 28 66 

Probability mass function is 
   

X 80 20 -40 Total 

f(x) 6

66
 

32

66
 

28

66
 1 

 
Mean:  
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6 32 28

( ) ( ) 80. 20. ( 40). 0
66 66 66

E X xf x
     

          
     

  

 That is expected winning amount is 0. 
  
Variance:  

  2 2 2 2 26 32 28 16000
( ) ( ) 80 . 20 . ( 40) .

66 66 66 11
E X x f x

     
          

     
  

  (E(X))2 = 02 = 0  

 This gives V (X) = E(X2) – (E(X))2 = 
16000 16000

0
11 11

   

 Therefore E(X) = 0 and V(x) = 
16000

11
     

 


